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Median divides the data into two halves

Terciles divide the data into three equally sized bins

Quartiles divide the data into four equally sized bins

Quintiles divide the data into five equally sized bins

Deciles divide the data into ten equally sized bins

Percentiles divide the data into one hundred equally sized bins

1 / 11



20k 40k 60k 80k 100k
0

1000

2000

3000

4000

5000

Distribution of annual disposable income

Annual disposable income in Euros

N
um

be
r 

of
 o

bs
er

va
tio

ns

1 / 11



20k 40k 60k 80k 100k
0

1000

2000

3000

4000

5000

Distribution of annual disposable income with median

Annual disposable income in Euros

N
um

be
r 

of
 o

bs
er

va
tio

ns

1 / 11



20k 40k 60k 80k 100k
0

1000

2000

3000

4000

5000

Distribution of annual disposable income with terciles

Annual disposable income in Euros

N
um

be
r 

of
 o

bs
er

va
tio

ns

1 / 11



20k 40k 60k 80k 100k
0

1000

2000

3000

4000

5000

Distribution of annual disposable income with quartiles
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Quantile 
The -th quantile of a distribution is the value  such that:

1. A fraction  of the data is less than or equal to .

2. A fraction  is greater than or equal to .

Examples:

The median is the 0.5 quantile.

The 57th percentile is the 0.57 quantile.
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Terminology often a bit loose
We often refer to things like "the top quartile", meaning all observations above the
3  quartile / 0.75-quantile.

Another example: "Observations in the 90  percentile" would mean observations
such that

Hence, reference to bins instead of points.
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